
(<uumurmntu brl>

08 l01l 2018a.
Q0nLrJ0bpfr utlLu0 201 8p

alu:m{f puurnLb gnruhnrlhurh 
ct nr-rturrq hrnurlurtr

(pu tf plnLgb qqlttt 6wfuubplt 7bputqbu2wQwtt rywuwQw pEIwtt)
b'nuqhnn

ULtluLnLdp opttruqlrp h qnpbur4|rp ilruprlfrhhp

pudfL 01 funLtlp '1 4uu 1 6purqfrp -
(puq pjnLgbqlwlhtr 6wluuElh qn ptwntu wQwtt 7wuwQwpq[wtt)

$trrltul unuptlurl]r QL UL d,h

(ghpurgullur

nqE)

Qu{rfutr
rJf u{npp Ufu{np}r

ahft n

Ch4ulthhg
buluuhp
(tp*,J)

Pu-rtrur!p
Ub2uLgb\ \n4g' gurn CPV

4uruur\ urpqdurh
urtllrutrmrlp

1 z J 4 o

UqpurLpLhp 650 000

.{urnLlurLlmp 400000

09132200 trhlqbL
nkqnrllurp

FCUZ Lltun 400 400000 1000

9pttnu\urtr qlrurnlptrhp h qpuruttlurllurl|rh lrlmptp 1500m

30190000 9phtrurllurh
qlrmnqptrh
n L hnrBtn

FCUZ qFur 150000 150000 1

SLuttuur\. Uqpurtrptrtp 100000

39000000 Strurhuur\u:h
urrqpurtrphhp

FCUZ rlpurd 100000 100000 I

U2[uutnutrptrbp

bu.rnulnLplnLLtrbp 750 000

tLhpqtnft bunurlnrplnLhhp 300000
653'10000 b1h\uptu\ur

hnrpluh
pur2|umf

FCUZ lpruri 300000 300000 1

9urqlr UurnruymplnrL 300000

642tt200 F22ur;]rtr
htnurlunu.
bu]n

FCUe rllu{ 179000 179000 1

324L2I20 f'tlntphtur
.1*.1

FCUZ rlFurd 121000 121000 1



Otpphpf purdurtrnp4urqr:npprh burnru;ntplnth 150000

92410000 f+tppkpfr
purdu:tnpquq
pmplurh
Eurnrulnrrolmh

FQUZ 4Furd 150000 1s0000

9Lnr-rl 2hurt4]ruurgnq utll burluutp 13470000

99600000 U2|uurnur{
rup& h
qnpbnr-qnr-tl

13470000 13470000 L

Ctu4rudhhp 14 870 000

rQurLndhnurmnLL gpulhntllrurlr qqnr-4ruqtrnulpu-rh

(pu q p1nL9b tpwlfitt 6wfuubph qbpw Lllbutullwtt qw uwltupU
bnuqhnn

Uhrluhnulp Qb4hurbntp phnqpfr ur31 burnurlnnr-plnthtrhp

pudlrh l |unr,rip3 4uru 3 Epuqltp -
(putp plnLgbqwllttt 6wfu ubnh qnntwnttwllwtr 4wuwqw nq[wtr)

$tlluL unuplu;|r 9hrfruh dh
(pLpurgu\

unq0)

2 ru r"h rlurtt
rIfrLu{npp ufu{np}t

ql'LI

CLrlullhLg
Eurluuhp
(ttp*,I)

PruLLu!p
Ufr2uLgb\ \ntp' gur.n CPV

4uruur! urpqrlurh
ruhrlrutIrrrl

D

1 z J 4 o 7

UunurLpLbn

UrluuinuLBLbn

bunulnrplnLtrLbp

Zullur\urpqurl|rtr burnurlmplnr-Lhhp 30000

72120000 Zur ur\rup
q:urJhh
burnurlnlldJ
mLhhp

FCUZ 4Fuld 40000 30000 I

Ctrnrurlhtn 30000

tl umtlhnuLnntL 9pruhnrlfnnlr qlnqulrlhururpurh

(pu tp plnrybqqfitt 6wfu ubplt qbpwtltbu2wQwtt qwuwllulqlurQ
unuqhnn

Utr{ubnLdp Ql4hurtrnr-p p\pfr hurhpur3frh burnrulntplmhhhp

prudftr 01 funulp 6 4u.ru 1 6puq[p -
(p u tp ptnLgb rputlfitt hwfuubpfi qn ptwnfu utQwtt 7wuwll wpqllurb)



9trtiutr tunuP!tu1|t eL u-rh dh
(ptrpurgur\ut

lsE)

QuL.htltutt

rlfuu{npp u FurqnFF
.hfun

Ch4rurlhlp
6urluuhp
(lp*.I)

PuLtu!p

Ulr2urhgb\ \n4P' lurn CPV

4uruur\rupq{urh 

-

urtnlulLrmrig

4 o 7
1 2

UqpurLpbbp

U2fuLuuruttpttbP

Uunrulnrp;nrttrbP
205000

nrLhhp 85000
2ullurl-rrunarurthtr bu.rlurlntB'

72t20000 Zullur\upq
:u{bh
drunurlnLPln
. t,t.L-

FCUZ llud 85000 85000 7

Furtrlurlfrh bunulmfqnthbhp 20000

rlpur 20000 20000
661 10000 Furh\urlflt

Erunurlmplmh
htn

FI]UZ

,tp 100000

100000 T
721000000 CL4hrutrntp

ptutpl]r ut11

burnurlmplnt
hhhp

llud lUUUUU

gtnul ?hurt4ftuurgnrl u{L bu4uuhP 150000

x I 150000 150000 199600000 latunul
| :huhlhuus
]ng burluubP

Cb4uilbttp
355 000

/T,r.... -. tL-,... -^rl, r.t-.-.L-.!L.-l
' lL!u lril rl rwurr rru xFuluq lrvr
/-,., ^ ^,^, ^L. -,,.'ht, *ttthttl;n h nhnttttnhr t<rtt lrrtfu nttnnultul nd[at|)
ll tuLlt FIt ILyuqtqJI

Utrr{urtrmJp Uqrurhurhnr-rl

purdfrtr 5 ]umrlp 14uru l bPurqlP

r^,,, ^ ^,^,ah nr tnhtu h ttht hnh n nn,)tttnlnrtlnuh nuJuwlJana[utJ )
tuun' FJt tLzv'1'wI,s -*t-"-tt .1::t::=:

PtuLulqp
9tlJutr urnup!ut1f 9tr ub &h

(gLpurgtu\
urFql)

2urr-[rdutt
tlfruLlnpp Ulrurrlnpft

ql'LE

QhqulltLp
burluuhp
(tttt- )Ulr2uhgbq \n4p' Puur CPV

nuruurLurnorlutr
uhrlurtrmrl

n

1 2 5 6 7



Uqpurttpl,&[
Urlu r.u Ln uLptr bn

bunulnLplntbbbP
1.540000

Vnrf nr-Lur1 burnurlnpr-l nttrbhF 15,10000

90511000 'Itnrurnlrqtuglr
nfu

8urnurtnrBtnr-tr

FCUZ lnuu 40 000 40 000 L

90511000 U\I:uhurljnLpJ
ufu
drunurtnLolmu

4lo rlFur 1 500 000 1 500 000 1

Ctrrpufhfup 1540 000

4lumtlhnulunnLb gFurhn{lrrnh qlmqrurqtururFurtr
/^,,,- ^,^,^t ,^,,,,ht, *,rththnh nhnrrttnhrnt tttit n utuulbunALIWtt )lItquI t-It,Lvuqtwtl

vl,qYl,lrl-l

Utllurhnr-rlp Onrlngtrhpfr lmuurr{npmd

purdfrh 6 |unr-ilp a 4ruu 1 blurqlp -
/nt,, r', rr^,rrh, n,, rhtt t\utfu ubnh anntwntJwllwtt \wuuUw\TLIwb)

9tllutr unup!Lu1|r 9hrluL Ab

(ptrpurgru\
uFql)

Q ru tfr rILuIr

LI[ruL{npp Ulrur{np}t

Sl'lrE

ClrlullkLp
burluuhp
(+tt*ri)

Ptutttu!p

Ulr2urhgh\ \nr11' puur CPV
n rrr n rrr Lru nolfurh

ruhrlurLntrl

n

1 2 4 o 7

UqnuLplbn
Urfuumubptrbn

200 000

CCrptfn tq CmnI'O3IlI'LLbfI' gLfduShq Lnlnqnhu 200000

45262690
qurnDrjgltFh

Etlrugh\
UnFnqnlu L

FQUZ 'Ipur 200 000 200000 1

Uu nurl n Lp1n Ltrb bP
1000 000

I-t'Lndl=rnfil' L"nrrrrnr nrnr ltftl;n 1000 000

65310000 hhUu+ur\tnl]n
rpltuh

FCUZ +Ful 1000 000 1000 000

Ctu4uilbtun
1 200 000

UhrlurLnr-rlp ltpur4rupurlrtrhp

pudfth 8 fuulp 2 4wu 1 bPuqlq -

9LLltrtr unup14tu;|t



ltbmrl 2hurb4]rurugn4 ur11 burluuhp 1 100 000

99600000 U2|uurunurl
urFA

x 940000 1 100000

C!4ufbttp 1 100 000

4|umLlhnurmnLtr gpruhnrftnnfr qlnqurqtururPrufu

hu n ptnLqbnwthtt 6uluubph 4bp w tpbulwQwtt 4wuwllwPqIwA

putdfb 8 lunulp 2 4utu 7 bputqftP -

$tllutr unup!Lu1|r

uh2urtrgt'll ll"4t'u"* cPV--
muuurL urncrlurh

urtllurlnt p

$hrlu.rtr d.L

(phpurgur

\*Rqn)

Q u {rLIu.rU
LIf u{npp Ulrurrlnplt

SlrhE

CL4rurlhhp
6urluutp
('p*tt)

PLuLU!p

I z 4 7

UulnuLBLbn
UrfuLrmurLBLbn 4 500 000

45000000 Irruqlunurl
r{hpuLnpnq
mr-[

4 500 000 4 s00000

ChnurIhtun 4 500 000

al ul r,n {h n ul m n LL gFurhnrlhrnir qlm{urqhrnuPurtr

(pu q plnrgbqtwlhtt hwfuubnh qbFwtttbuSwllwtt 4wuwQwFq[wtt)
tinuqhnn

Uhrlurlrr rip U2ur\mpullfrh rffr2ngurnnr-r{trhpf \urqilur\hp}unui

9LrJutr unup!u1f $hrJurL d,b

(phpugur

\-lsu)

2ur"hrJtutr

rJfrru L{n p p Ufu{npft
.tt -r

Ch4ur hlg
buluutg
(ry*,i)

PuLut!p
Uir2urtrgb\ \nlp' puur CPV

4ururu! urpqrlurh
url.nlruhnufp

1 4 5 o 7

UqputrpLbp 200 000

18530000 Futru\f optlutt
b{}rs{u6
dhotrounnrrl

trcuz X 50000 50000 1

39280000 uu1|ruf 9-fr1.r

L{fpr{urt
tlhonqunnrtt

trcue X 50000 50000 1,

18350000 FLFpb ttlrtrb
rjhonotunnld

FCUZ 50000 50000 t

18530000 ur urbnlrjur
hrltnhtn

FCtIz 50000 50000 't

Urfuurnubplbn
Cfu4rurlhtrp 200 000



irlruLndhnunnLL 9nurhnr.lhurh qtmqruqhururpurtr

(p u q p1 n Lgb rp w1 fi tt 6 w lu u b p
bnurqhnI

Utnlurtrnulp Lurlururlqpngur\urh \ppnt-p1mh

prudfrh 9 |umrlp 1 4uru 1 bpuqfp -
(p u tp p1 n Lgb t1t w1 lt tt 6w fu u b p fi qn p6w nh w Q wtt 4w u w Q ut nqd wtt )

9LrJurL unupllLul|r 9hrlurl dh
(pLpugur

\-lqu)

Q u r.hrftulr

rifru{npp Ufrurrlnlf
SlrlrE

CLlu hLg

burluuhp
(U-,1)

Prutlu ! p
Ulr2ruhg]r\ \nqp' puur CPV

4u:uurl; urpqrlurh
urh{urhmrlg

1 2 4 o 7

ULunurLBLbn

UrbLuuuLpLbn
9lnul 2hrutr4fruurgnq ur11 bur]uuhp 8 s00 000

99600000 ahpurgb\
rlpullur2hnp
h znUq-btr

8 500 000 8 s00 000

Ctrnufhbn 8 500 000

aluLnrlhnLuurnLL 9nurhmlhuh qtnqurqtrnurpul.r

ft u qn pl n Lpb ttt wl h tt 6w lu u b n h qb n w tf b u W Q wtt 4 w u w U w n 46utt ) -

unuqhnn

ULn{urhmrlp Ung}rurlur\urh urLururquhmlptrururhfrphhpfroqLmp3nttr

purdfrtr 10 |unufp 7 4uru 1 bpurqfrp -
(putp p1nLgbt4w1fitt 6wfuubpfi qnpt

$tlJruL unuplltrlf $Ldurh 3.h

(Ehfdugur

\*pqn)

? nr r"h rJtutr

tlfru:{npp Ulrurlnplt
Yl.*tl

CtrlullhLp
6uluuhp
(ry*rl)

PLutrtullS

Ub2urtrgb\ \n4p' puur CPV

nururut runqrfurLr
urLnlurtrnrrlg

2 c 4 o

Ur.u n r"ultpL bn

UrtuuurutrBlbn i

Qtnr-rl 2hur\|rurugnq ur11 burluukp 1 500 000

99600000 utt
hquruurhhp

X 1100 000 1100 000

99600000 2nqup\ru
rlnpntplurh
hqururn

400 000 400 000

Ctrnurlbfun 1 500 000


